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Foundations and Pre-Calculus 10

Ex. 4) Suzette works as a waitress in a local café in Selkirk, MB. Yesterday she made
$165.32 in tips. If this was 15% of the bills she collected, how much were the bills?

&\Igamz_w\ hours did he work? -
$/6S.220.15 = £/(02./3

UN\_%vmmmBm $15.85 per hour, how much did he earn that week?

Ex. 5) Mandeep is at a restaurant in Prince Rupert, BC. He has decided that 15% is too
much to leave for a waiter who did not provide good service. He left $3.00 on a meal that
cost $24.75. What percentage tip did he leave?

=800 _ 717 =202,
2%7TS
Ex. 6) Rosita earned $408.65 working 35 hours at $8.21/h plus tips. How much did she
make in tips?

3S($&21/h) = $282. 23S A\\SX\Q%\:\T\\(‘V

A

Fclo&, 65 — £289.3S = /21,30 Hps.

Ex. 7) Rosa is a community wellness nurse in Fort Simpson, NT. She attends a
meeting of the Deh Cho Health & Social Services Authority in fort Providence. To
attend the meeting, she drives her own car 325.3 km. Her employer will reimburse her
at a rate of $0.605/km.

a) How much will Rosa receive as reimbursement for her trip?.

$0.605/km (325,23 m Y
= B196.81

b) Is this fair compensation for the use of your own car for work? Why or why not?
What factors would you consider?
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